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that all savings comeout ~ qeraticms. An annual cost redwtion of only

2.4% be sufficientto genemte the met $4.5 billion of savhgs W mte~houldbe
compared with a minimum of 20%per anMIM=- rediz-ed~ USindustry.

Comparison of target isavingaagainst the current bmeline is not appropriah.

hmn-dng that personnelrelatedtmsactims wIUdecreaseH-M% (hi$edCMIprojected
redwdon in personnel) and materbb related -CIMIM will ckeiw w% (based

on projected reduction in wqdddon) then allowing for only a 2.4% annual cost
reductionwillyielda !$4.5billionincrea@ in the *g of thed&IZMMrastructure.

A $4.S billion cost reciu~on target will not hnprove ~D’s “tooth/tail” ratio.
Information technology is one of the few means available to improve the cost-
effectiveness of IX forces. I do not believethat US defense will be saved well by
acceptingthe proposed $4S billion cost reduction target as the agenda for the balance
of thisdecade. We can and ought to do muchbetter.

. .... ,
““, . . .

““. *...,
‘ “”.*..,.*. . . . . . . .

.M
........ ..

‘“* . . . . . . . .
‘“. . . . .:. ...+ ?:;;:”. ...+ ●..,.+::. . . . .

,!.
“;:: a...,,

ic Cavtdlhi, Jeffcoa& LtCea ShORjj/~/~ ~::”
●...,

●.,
●

.

u

‘ PerswIMl and IWZWMSdd UWMWM$SC@wrt d b abouthalfofdw ihinarh wurktd. TM
calls *an avera~decmse d 30%k OpersrJofw.xpamby1999.Whh Math h cmpetim toss already
bulkIntothebasdlneacdcdadm ofthevdumc-d@cd basehwIsendwed.
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,Cumlc SW B8uih’N 19*4 1906 1996 1997 * 998 1999 2000 3994-2000

S3.80 $3.60 $3.60 WJQ $3.60 $3.60 @.@ $26.20
$7.91 $6.10 $7.66 $7,90 $8.10 88.10 $B.1 o $56.06

TM $ft.Sl $11.70 $11.46 $11 AO $lf.70 $tl .70 $11.70 $81.20

Y*mlm9@t 1994 . *ms 1 Sw 1w? 19$$ 1999 2uoa 1994-moo G9wBBDdlae
Bnva&nonl {-owyr) $9.80 $3-60 33.60 S3.60 $3.@ $3.60 ~.:: $25.20 $0.00

qordaw f-zwlyl $?.31 $7.72 $7S3 S7.30 $7.16 87.@~ - $51.55 $4.5$

yOld $It.ql $11.32 $1 I.*S $10.96 $10.7B S}0.61 $10.44 $78.75 $4.51

%CbRLMal WL.lwamdiuc
~Bt 100% 100% too% t 00% 100% 106% too% 100%

100% 9!5% 3’8% 93% 89% 87% 34% 92%

Tad 106% 97% 97% 95% 92% %+% 63% 04%

.

k-



I
il1

30
/e

2
Q

8:
49

W
70

3
61

4
05

90
O

A
SD

{c
31

)/D
D

I
O

to
os

/o
o3

.
.

“W
IT

BY
Wr

6x
Tc

lo
co

ph
r
?0

20
:1

1-
29

-9
2:

9:
52

M
:

NE
tf

CA
N?

WN
C

,l
t+

7
0
3

6
1
4

D
sg

g;
t$

..


